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QUESTION 1

During a discovery workshop, a content editor must be able to publish any page for English and French versions of the
website. The architect could put the extra permission against only the specific user profile. Instead, the architect creates
a group, sets the group\\'s permissions, then the replicates permissions on the both content/en and content/fr nodes.
What is the likely reason for the architect\\'s decision?

A. Groups are easier to administer and manage user access rights.

B. Groups provide greater granularity of control over users.

C. Groups integrate into third-party security such as LDAP.

D. Group privileges are stronger than user privileges.

Correct Answer: D

QUESTION 2

A multi-national company rolls out its authoring tools and site in English-speaking locations without regard to other
languages. An architect must augment the system to facilitate authoring content in French and adapting the resulting
tools to enable other languages added at a later date. Which tool allows the architect to manage dictionaries?
A.118n

B. Internationalization Service

C. Translator

D. Dictionary

Correct Answer: C

QUESTION 3

A company\\'s news media website becomes unresponsive during an off-peak time. The AEM team investigates and
identifies a DoS (Denial of Service) attack.

Which two security measures should the architect use to reduce the chances of another attack? (Choose two.)
A. Change the passwords for default out-of-the box users (admin, author)

B. Uninstall all sample content and users that ship out of the box with AEM

C. Disable the default selectors .feed.xml and .infinity.json

D. Implement a Dispatcher filter to allow only known selectors

Correct Answer: CD
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QUESTION 4

An architect must optimize the performance of the home page of a client\\'s website. The client requires that search
engines index the home page content.

The home page must NOT be cacheable because it displays a list of recently shared articles.

This list is generated by using an AEM component that performs a real-time look-up to an API from a third-party
company.

Which solution should the architect choose?

A. Replace the real-time API access with a scheduled job inside AEM that runs every 15 minutes to update the data and
trigger a dispatcher cache flush

B. Replace the AEM component\\'s server-side logic with a JavaScript widget provided by the third p
C. Cache the home page using the Dispatcher and implement a cron job to remove the cached file every 15 minutes
D. Cache the rest of the home page and deliver the recently shared article list using AJAX

Correct Answer: A

QUESTION 5

An architect needs to document the flow of content from a system that provides real-time stock quotes to an AFM
system for display. The documentation must show how each server communicates and which ports are used.

Which architectural diagram should the architect modify?
A. Conceptual

B. Physical

C. Logical

D. Data Flow

Correct Answer: A
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